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CHEMISTRY
Course ID : 11418 Course Code : SPCHE-101-C-1A(T)
Course Title: FO. C & A H.,A.S.,CP, A &B, R.R.
Time: 1 Hour 15 Minutes Full Marks: 25

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five questions: 1x5=5
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(a) Write down the electronic configuration of Co™".

Co™" O BTG Rl e |

(b) Compare the acidity of benzoic acid and p-nitrobenzoic acid.

@IS SO ¢ 2fi[l TREGIEEIRE Shteed SHted wedl I |

(c) Why the ionisation potential of Li" is higher than He?
Li"-937 Siarede fTed He-93 Qomisl (Af¥ (e 2

(d) What are the conjugate acid and base of HPO i’ ?
HPO 2 SIRIGIA Sl SIS € Sl 7S (@1l |

(e) Which one is more active towards Sy1reaction and why? — CH;OCH,CI and CH;CH,CH,C1
Sy Rfeme @@ @R wfes @k @5 ? — CH;0CH,Cl @3k CH;CH,CH,Cl

(f) What is the oxidation number of ‘S’ in Na,S,05?

Nazszo3 o ‘S’ @q gIgq “;RQUT ]9 ?

(g) Explain, why the electron affinity of Cl is higher than that of F?
Cl-95 3EE SIS F sl (@ (a2

(h) [Co(H20)6]2+ is less acidic than [Co(H20)6]3+ — explain.
[Co(H,0)s] 49 @i lid [Co(H,0)¢]”" @R wnfes — <y weal |
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2. Answer any two questions: 5%2=5
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(a)

(b)

(©)

(d)

(i) Which one is more stable and why?
CH,=CH—CH,CH, @3} >C:CH2
H;C
@R @M R G3R @2
CH,=CH—CH,CH; €<% >C:CH2
H,C
(ii) Trifluoroacetic acid behaves like H,SO, — explain.
(iii) What is the hybridization of ‘C’ in ®CH3? 242+1=5
®CH-q @R AaRe S

Give an example of enantiomer and diastereomer. Write a short note on tautomerism.

Write down the Hund’s rule.

Fill in the gap: H,C=CH,—2—» HZC\ / 242+1=5

«F I enantiomer €3 diastereomer- 613 TV Wie | ZSF qai AR IR |

“E 7[Fe FEAN Hy,C=CH, —2—» HzC\ /

Write down the properties of d-block elements. What do you mean by diagonal relationship?
3+2=5

47 (N @RRefl @l @fas s7F @Tce J @I

Arrange in increasing acidity order of the followings: 3+2=5

H;PO;, H;PO,, H;PO,
Cis-1, 2-dichloroethane is more polar than trans-1,2-dichloroethane— explain.

SfeFoR T T SEPIE AGe ¢
H,PO;, H,PO,, H;PO,
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3. Answer any one question: 10x1=10
@ () GFIoF e ¢

(a) (i) Write down the products [A] and [B] in the reaction:
TfRe sftasEma Tery Tesy smefel [A] @32 [B] e

Me
HBr KOH
Me—C—CH=—CH, > [A] - [B]

/ EtOH

Me

(i1)) What is cracking? Write short note on meso compound. Arrange the increasing order
of basisity of the following: CH;NH,, C,HsN, CH;CN 2+(2+3+3)=10
iR F2 B El— EIET @19 FEISORN TR T SPIE AEIS 8
CH;NH,, C,HsN, CH;CN

(b) Calculate the radius of 2nd Bohr orbit of a H-atom. What are the differences between
electron affinity and electronegativity? What are the hybridization of central element in
PCl; and PCls. Explain racemization with example. 3+3+2+2=10
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